
®

CUTTING DIAGRAM

ADJUSTABLE LIGHT SHOP CART
Issue # 275     Volume 59     Number 1 JAN / FEB 2003

Page 1 of 1
Copyright 2003, August Home Publishing Company.

MATERIAL AND HARDWARE LIST

A (4) Legs (fir) 21/2" x 21/2" x 26"
B (2) Top/Bottom Shelves (MDF) 3/4" x 16" x 20"
C (1) Adjustable Shelf (MDF) 3/4" x 16" x 181/2"
D (1) Hanger Back (fir) 3/4" x 33/4" x 14"
E (2) Hanger Sides (fir) 3/4" x 33/4" x 181/8"
F (2) Drawer Sides (fir) 1/2" x 31/2" x 17"
G (2) Drawer Front/Back (fir) 1/2" x 31/2" x 11"
H (1) Drawer Bottom (hardboard) 1/4" x 11" x 161/2"
I (1) False Front (fir) 3/4" x 311/16" x 137/8"
J (1) Upper Spacer Block (fir) 1/2" x 11/2" x 3"
K (1) Lower Spacer Block (fir) 1/2" x 11/2" x 11"
L (2) Mast Sides (fir) 1/2" x 11/2" x 48"
M (1) Support Arm (fir) 11/2" x 3" x 10" 
N (1) Clamp Block (hardboard) 1/4" x 11/2" x 6"
O (2) Guide Strips (hardboard) 1/4" x 1/2" x 6"
P (1) Pressure Plate (fir) 1/2" x 11/2" x 6"
Q (2) Sleeve Sides (fir) 1/2" x 11/2" x 83/4"
R (1) Sleeve Back (fir) 1/2" x 21/2" x 83/4"
S (1) Mounting Plate (fir) 3/4" x 5" x 9"
T (1) Dowel (hardwood) 3/8" x 21/2"

HARDWARE
•(34) #8 x 11/2" Fh Woodscrews
•(10) #8 x 1" Fh Woodscrews
• (1) 1/4" x 20 Threaded Insert
• (1) 1/4" x 3/4" Threaded Knob
• (4) 1/2" x 11/2" Lag Screws
• (4) 3" Locking Casters
• (1) 5/16" x 21/4" Threaded Knob
• (1) 5/16  " T-Nut
• (1) 5/16" x 3" Lag Screw 
• (2) 16" Full-Extension Drawer Slides

B

#/4" MDF - 48" x (Qty: 1)48"

C

B

NOTE: Start cuts "
from edge of MDF to
remove any damage

that may have occured
during shipping.

!/2


